it 5. —Jm:& 6. \/Z§__;L__ 7 =i _/L 8. 1 /

et _ b |’
SKILLS PRA(,II(,E 30 NAM: %l& {--f ™

For use with Lessons 11-1-11-3 ’ . = -I ]
LI 2 TR (i A ~ :I
i U\JE UAN Chig %, 1
BE  Simplify. |

LVea_ & 2 _ [l ’2;2 3. /625 AD 4 —\/25 —/lp

Identify each square root as rational or irrational.

9f//f 10.\/5_&/_":_ Vo VB (i 12 i@ _ax -

'
et 13. /120 z!: 14. 10 [ AT - s, Jao L7 - 1 \/—_g
B2  Determine the values of x that will make each expresion a feg] number
AL 17. . \ 8. 3x =0 g F ﬁis 2'0' J;:;j i
20 P11 L( 2. \/)ﬁ / 2x+1_03 24, S_L_EEJ
Simplify. ’
25, Ja®b%r /! Aty --_. . 27. /Om)? “?//7’7!3r |
28, Jm_rf_‘/_“_T_ 29, \/(Tc)z /?,{r:;“ 0. W 7;’%‘:{ P
(A =Ty 64 ff\!s"’g[/ ()t ex+9__ /’X
B8 Factor and simplify. Assume that all variables are nonnegative.
(Q Vo ﬁ/‘ = @Jﬁ (9F @f %/_:;/
/>\/16t FIE i, W, Jeiy__ Vi 38, /157 /’I
W AASS (40.)/&005% ;d a1, 317 }//;; _
@ _S LD I () s (wmew_30L-[2
. Ji6s_V/ /e 4. yioo_ L0/ /O @i O V3x
/\W Amd // ©. J5ta__ 5/ A0 @J@ AL /;;’C
51,)y/200% /! ”/ @W XS0 > >/ =
(s A L d (58) ok + 1 (o i+ "’m#@u S
57. 'l ‘/\fjj N/ ’Dmmgm /?Mﬁﬂ
(ﬁﬂ i/ 27;‘ | Al UG 'i/' )
38
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G ( NAME
Foruse 'vn'i"_jth' Le_.{son_s 1146119
A DATE
Ho Add or subtract. /
T AN
1. 11\/3+4,/3 /56 2. —2x +4yx / il /
3.V32-418 \(9 4, ~/48x+‘/75x ("?/f 5%)/3x
5. 6./x%y — \/64y _[(O/X 8,/ ‘f ] 6. /7 — \[
1/;,_1_ T =
7.£+\/g A 8 —128+7/184250__ [l
Tt o
9. 3\/2—4+2\/57—2\/ﬁ/0‘.91ﬂ’(ﬂu!5 10. /16x + 32 + \/4x + 8 (0\5(_%51
11. 2a+/ab + a~/ab® + by, a 12, \/36a + 3-/4a /212
J38
=7 Find the length of the 51de not gwcr; for a 'nght triangle with hypotenuse ¢ and legs a and b.
13. a=16, b =30, c = 3H 14.a=15, c=25 p=___AO
15.a=5,c=13,b= /2 l6.b==12,c::520,a='g [ L2
77 .
17.b=24, c=25 a= 1 18.a=9 b=12 ¢ = /5
/7 ,f‘“‘:;
D a=6b=8 c= (0 2. a-65 c=105b-_X V/7
F Solve.
21. Littleton airport is 50 miles due south 22. A 13-t ladder is leaning against a
of Milford. Milford is 120 miles due east building. The bottom of the ladder is 5 ft
of Fielding airport. How far is it from from the building. How high is the top
Fielding airport to of the Iadder‘7
Littleton airport? ; - AV
P 1B0my - /511,
o Solve.
/2] 73.9
23. /x =11 ‘ 24. \/x =86 o
25. 12— 6./9n = 0 /%/4 2. T +4=0_NO Jolvli o
27 Jt+1 - /(ﬂg 28. 2x +2 =\x+7 5
- s
2. JI3—6x=J5-5x__ _ A 30. /ax +3 =4/x ¢
3.2.9x—7=5 /7[ 32. /5x -3 =-Jx135 i
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